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1. Overall Description:

To evaluate how much E-UTRAN will impact the service quality provided to an end-user, Throughput KPI is defined by SA5. The requirements are defined in section 5.3.1 in 32.451 and detailed definition is in section 6.3.1 in 32.450. 
To support this KPI, corresponding measurements are needed. After investigation, it is found that RAN2 intelligence is needed to define these measurements. According the agreement between RAN2 and SA5, the measurements should be defined by RAN2.
PDCP Throughput in DL
This measurement provides PDCP throughput in downlink (See section 5.3.1 in TS 32.451 and section 6.3.1 in TS 32.450 for detailed requirements and definition). It is obtained by the following formula for a measurement period.


[image: image1.wmf]]

s

/

kbits

[

  

0

   

0,

ThpTimeDl

 

If

]

s

/

kbits

[

 

x1000

ThpTimeDl

ThpVolDl

   

0,

ThpTimeDl

If

=

>

å

å

å

å



[image: image2.wmf][

]

ms

t

t

ThpTimeDl

d

transmitte

volume

data

of

part

first

d

transmitte

y

succesfull

volume

data

1

-

-

=


A sample for ThpVolDl is the data volume (PDCP SDU) in kbits successfully transmitted (acknowledged by UE) in DL for one E-RAB during a sample of ThpTimeDl. (It shall exclude the volume of the TTI emptying the buffer).

A sample of “ThpTimeDl” for each time the DL buffer for one E-RAB is emptied. “-1” to exclude the TTIs emptying the buffer for one E-RAB.
PDCP Throughput in UL
This measurement provides PDCP throughput in uplink (See section 5.3.1 in TS 32.451 and section 6.3.1 in TS 32.450 for detailed requirements and definition). It is obtained by following formula
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A sample for ThpVolUl is the data volume (PDCP SDU) in kbits received in UL for one E-RAB during a sample of ThpTimeUl. (It shall exclude the volume of the TTI emptying the buffer).

A sample of “ThpTimeUl” for each time the UL buffer for one E-RAB is emptied. “-1” to exclude the TTIs emptying the buffer for one E-RAB.
2. Actions:

To 3GPP TSG RAN WG2 group.
ACTION: 
3GPP TSG-SA WG5 asks 3GPP TSG-RAN WG2 to define previous two measurements in 3GPP TS 36.314.
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